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This is inline mathematics: g” sin(x)de = 0 and fu(z)dz = 2ir.
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This is inline mathematics: f sin(x)dz = 0 and f dz = 2ir.
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This is inline mathematics: f sin(x)dz = 0 and f 2)dz = 2ir.
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This is inline mathematics: [ sin(x)dx = 0 and [ u(z)dz = 2ix.
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This is inline mathematics: [ sin(x)dx = 0 and [ u(z)dz = 2ix.
0 T

(0]

/f(X)dx=/g(f)dt
Q

0

If Q := (0, 00) X (0, 00) then

/f(X)dx :=//g(s,t)dsdz
Q 0 0

If Q := (0, 00) X (0, 00) X (0, 00) then

/ fdx = / / / o(s. t.wdsdidu
0O 0 O

Q

/2 ,

21 z—a
r

Res(f, a) :=




